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HBYX 2018/05/31 MH X 2271 ()
. . O AE(%)=V+Es+T+P T(%)=Tq-Ti/273%100
F 3 G1.6 y TR ’ .
V(%)=1-Q/Q*100 P(%)=Pi-Pq/Pi+ t)7]$}+100
NTJINEETA | @Qmax 0.2Qmax JIE7I8H P Qmax 0.2Qmax
i°c) ] 7.30 7.30 [Pal 3200 3200
e w s 139211 144212 139211 144212 139211 139211 139211 139211
& 013387 006414 006236 005860 000701 000726 006234 013427
3 650 L T 1 70000C T [ 99.90L T | 700.60L 1 ] 100.30L 1 | 10080C 1 | 100.40C I _[i0070L 1
2.5 m/hi 100.00L Q V 050 0.0 ~310 080 030 080 540 070
&I BB Es ~0.04 ~0.04 ~0.04 ~0.04 —~0.04 —0.04 ~0.04 ~0.04
o [~ | 730 Til 7.30 Tl 7.30 i1 7.0 Ti 1 7.30 T 730 T 1730 T 17.30 T
A a |THUHEEASRXT 5.00 000 000 .00 000 0700 0.00 000
. . T 575005 Br 306000 P | 295000 b. 1 2000.00  Pi | 2800.00 b5 | 2750.00 DI | 2650.00 P | 2550.00  Pi
FHNHARQEZIA P —0.10 —0.19 —004 ~0.09 —0.38 =K ~053 ~0.63
JEADIE QK[ +1.50%) H 0.36 -0.13 -0.38 0.27 -0.12 0.33 -0.17 0.03
; 5060 T T 100200 T | 900700 1 [ i0080L T 1 100.80L 1 | 100700 1 | 100.80L 1 _|10050L 1
0.5 m/nf 100.00L Q V 680 540 570 080 00 0.70 .50 050
TN BN Es 0.19 | 0.19 0.19 0.19 0.19 | 0.19 0.19 0.19
9 % . 7730 T 730 T 1730 730 i1 7.30 T 730 T [7.30 i [7.30 T
W a |FHIHEZNZIXANT 0700 1 000 700 0.00 .00 000 000 .00
_ 38000 Prl 312000 Tr | 370000 Di | 308000 Pi | 2060.00  Di | 5040.00  Pi | 302000 Pi_|3000.00 _ Pi
SEHUHSA=GE A P =502 | =0.08 =070 =k =513 —0.15 —0.17 =519
JEABIH 2K [ £1.50%]) E 0.77 .51 0.19 0.88 0.36 0.74 0.92 0.50
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2R E by 2018/05/31 o8 3 I 1A F1(F)
- 21 1 AN A 9 3E(%)=V+Es+ T+P T(%?=Tq—T1/273*lOO
V(%)=I-Q/Q*100 P(%)=Pi-Pq/Pi+ t]7] &+100
NENE2E Tq | Qmax 0.2Qmax JI=7|e™ Pa Qmax 0.2Qmax
1°c) ] 7.30 7.30 [Pa) 3200 3200
; e 139211 139211 139211 139211 139211 139211 139211 139211
P& o 004099 025182 006257 006175 000732 | 006174 013377 013379
3 50T T 1 980 T [ 10070 1 | 10080L I_| 100.10C I [ 10050C 1 |700.90C 1 _|100.60L 1
2.5 m/h] 100.00L Q V kI 530 570 9580 010 050 0.50 080
I 2R Es ~0.04 -0.04 ~0.04 -0.04 | ~0.04 ~0.04 ~0.04 ~0.04
? 5 pp—— . ] i1 7.30 T 7.30 T 7.30 Ti | 7.30 T 1 7.30 T 1 7.30 T (730 T
W a |FHNHESXNRSNT .00 500 0.00 7.00 0.00 000 200 000
R u 5756500 Pl 300000 br| 295000 Pi | 2900.00  Di | 2800.00  Pi | 2750.00 Pi | 2650.00 Pi | 2550.00 _Pi
FHUHASAESA P —5.10 ~519 004 —0.29 —0.38 ~0.43 ~0.53 ~0.63
IPADE 2K} [ £1.50%) E -0.04 -0.43 0.42 -0.03 -0.32 0.03 0.33 -0.07
1 ' o5 T 0090 T | 100400 1 _| 10070 I | 700.60C 1 | 100.40C T [9950C T "J100.50L I
0.5 m/hf 100.00L Q V 5350 0.90 040 570 080 1 040 5.0 050
JIET BENM Es 0.19 0.19 0.19 0.19 0.19 0.19 0.19 | 0.19
¢ x 17730 Til 7.30 T 7.30 Ti | 730 T T 7.30 T 1 7.30 T 17.30 T {7.30 T
o a |TEHOIHSERAZBXNT 000 0.00 0.00 0.00 ] 0700 0.00 0.00 0.00
\ STE050 P 319000 Pl 310000 Pl | 3060,00 Di| 3060.00 Pi | 3040.00 _Pi | 3020.00 _Pi |5000.00 _Pi
SZMEYSEGE AP ~5.07 | —0.08 —5.10 —0.11 0773 —0.15 —0.17 ~0.19
JpADIE 2K [ £1.50%] E 0.67 1.01 0.49 0.78 0.66 0.44 -0.08 0.50
m'/hl
NEH SHA Es
SHUEHYEAE R P
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. . O AE(%)=V+Es+T+P T(%)=Tq-Ti/273%100
3 A G1.6 ). ’ oma
V(%)=1-Q/Q*100 P(%)=Pi-Pq/Pi+ t]7]¢}+100
NEINRE Iq Qmax 0.2Qmax JixEJ|12H8 Pa Qmax - 0.2Qmax
(‘cy 7.30 7.30 [Pa) 3200 3200
o 139211 139211 139211 139211 139211 139211 139211 139211
now o 039432 013912 039500 013374 004100 000778 037432 039598
; 5980 T | 100500 T | 100400 T | 700.80 L 1 | 100.00C 1 | 100.30L_ 1 |700.80L I [100.30C I
2.5 m/hf 100.00L Q V =) 050 40 580 000 5O 080 650
NEH BEA Es -0.04 -0.04 -0.04 ~0.04 | ~0.04 -0.04 -0.04 ~0.04
e [x A I Ty i1 7.30 Ti | 7.30 T 730 T [ 7.30 Tt 1 7.30 Ti 17.30 T1 [7.30 T
W u |THNHESAZIAT 0.00 0.00 000 000 900 000 0.00 000
n — 1375000 o1 3000.00 Pi | 295000 Bi | 2900.00 . bi | 2800.00  Pi | 2750.00  Pi | 2650.00 _Pi |2550.00 b1
SHOHASK=IX P ~0.10 —0.19 ~0.04 ~0.29 | 038 =043 0,53 063
JFATHE 23X} [ £1.50%]) E -0.34 0.27 0.12 0.47 -0.42 -0.17 0.23 -0.37
' : ' TBeEe T T 00300 T [ 10070 LT [ 99200 1 | 100.80L 1 | 100.400 1 | 10070t T |100.80L 1
0.5 m/nhf 100.00L Q V 080 030 570 5801 080 ) 070 080
JIET PR Es 0.19 0.19 0.19 0.19 0.19 0.19 0.19 0.19
? p— 730 il 730 T 730 T 7.30 T 1730 T 7.0 T 1730 T {730 T
W a4 |FHIHEBSERZZXT 000 0.00 0,00 000 000 000 0.00 0.00
— ITRO00 Bl 372000 Pr| 3100.00 B | 3080.00 D | 3060.00 Pi | 304000 Di | 3020.00 _ Pi |3000.00 _Pi
FHNHARLEIN P —0.02 ~0.08 =510 0.7 ~0.35 =R =017 =0.19
JEADE @A [ £1.50%] E 0.77 0.11 0.79 -0.72 0.86 0.44 0.72 0.80
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&I DA Es
XA |STHONHEERSIERT
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AO0HZEAINE=EI
HAME J1Z=J] : 531628 AN H 25 73 % &aEs5s %
HE X 2018/05/31 MEHI AAHI(Z)
, O AE(%)=V+Es+t T+P T(%)=Tq-Ti/273*100
,ﬁ a 61.6 H ﬂ ﬂ 0 o. q .
: V(%)=1-Q/Q+100 P(%)=Pi-Pq/Pi+ tl7] =100
N=IIBETA Qmax 0.2Qmax JI=J|erd pa Qmax 0.20max
[°C) ' 7.30 7.30 [Pal 3200 3200
N 144212 134211 139211 139211 139211 139211 139211 139211
21 & ® o 005858 203444 032878 007012 039602 000697 037453 032881
3 5050 T T 700200 T | 100800 T | J00.90L 1 | 10080L 1 | 10110L_1_}100.40L I [100.70L I
2.5 m'/hi 100.00L Q@ Vv 550 .30 080 580 030 716 040 076
&7 BEA Es -0.04 -0.04 -0.04 ~0.04 ~0.04 -0.04 -0.04 ~0.04
2 & Spp——————— - ) Til 730 Ti| 7.30 T 730 Ti 1 7.30 T 1730 T 17.30 TP 17.30 T
X a4 |THUHSERZIAT 000 000 000 700 000 .00 000 000
. - ETo0 00 Pl 300000 BL | 2950.00 i | 2900.00  Di | 2800.00  Pi | 2750.00 Pi | 7650.00 Pi | 2550.00 Di
=0 HA=GEHA P 010 =019 —0.24 029 —0.38 043 0,53 ~0.63
JrANIE 23 [ £1.50%) E 0.36 -0.03 0.32 0.57 012 0.63 -0.17 0.03
T ——5050 L T T 700260 1 | 10080 T | 10070 L T | 70050 I | 100.80L T [100,20L 1 |100.70L I
0.5 m’/hf 100.00L Q Vv 550 056 080 0.70 G50 5730 0.0 0.70
317 AN Es 0.19 0.19 0.19 | 0.19 0.19 0.19 0.19 0.19
2w . 730 T 7.30 T 730 T | 7.30 T 1 7.30 T 1 7.30 Y [ 7.30 T 17.30 T
W a | FHOHEEXRZEBAT 0,00 0.00 0.00 0.00 0,00 0.00 0.00 0.00
— TE000 BT 372000 P 370000 Pi | 308000 P | 3060.00  Pi | 3040.00  Pi | 3020.00 _Pi | 3000.00 Di
O HSMAERA P .02 =508 ~0.10 =k —0.13 —0.15 —0.17 —519
JATE R [ £1.50%] E 0.67 0.31 0.69 0.78 0.56 0.34 0.22 0.70
m°/h
JNEN BAA Es
2% |runsesmeanT
20 EHYEKE R P
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HLHD J1=7| : 531628 AP % 73 °C &E5 %
HI YT} 2018/05/31 K-y NESTRIES)
Q A}E(%)=V+ Es+ T+P T(%)=Tq-Ti/273+x100
7 4 G1.6 ), - Y _ :
V(%)=I-Q/Q+100 P(%)=Pi-Pqg/Pi+ 714100
N=INes Tﬂ Qmax 0.20Qmax JI=712 Pa QOmax 0.2Qmax
i°c) [ 7.30 7.30 tPal 3200 3200
‘- o 139211 139211 139211 139211 139211 139211 139211 139211
7 &9 011460 013376 013375 000724 000788 039437 004101 025173
2 9590 T 1 100500 1 | 99.900 T | 107.000 I | 100.60C I | 100.80C 1 [101f0LC T [T00.60L T
2.5 m/hp 100.00L Q V ~5.10 .50 510 1.60 080 o501 1710 0.60
T SR Es -0.04 -0.04 ~0.04 -0.04 -0.04 | ~0.04 -0.04 -0.04
-3 B S ——— 2 ) il 7.0 TI[ 7.30 T 7.30 T | 730 T | 730 T 1730 T 1730 T
A a | THUHESASIAT 0.00 000 0.00 000 .00 000 000 560
e ST0000 " il 3000000 PT| 295000 _ Di | 2900.00 Pi | 2800.00 _ Pi | 2750.00 _Pi | 2650.00 _Pi |2560.00 _Pi
R 0 EHESAEIAN P —0.10 | —0.19 —0a ~529 | ~0738 043 —0.53 ~063
JEAOIEH RAF [ 21 50‘&] E -0.24 0.27 -0.38 0.67 0.18 0.33 0.53 -0.07
3 9086 T T 1 100700 T | 109080 I | 100,400 1 | 100.80L 1 | 100.00L 1 _[9980L 1 [T00.50L I
0.5 m/hj 100.00L Q V 06D 570 050 540 080 900 .50 .50
I BEA Es 0.19 0.19 0.19 0.19 0.19 0.19 0.19 0.19
2 7 - 7730 i1 7.30 T 7.30 T 1730 Ti T 7.30 T T 7.30 TT 1730 Tr 1730 T
W |THOHEXAZAAT 000 000 0700 0.00 000 G.00 .00 000
TTE000 Pl 372000 br | 370000 Pi| 3080.00_ Pi| 3060.00  Pi | 3040.00 Pi | 3020.00 _Pi | 3000.00 DI
SHONHARYEIA P ~002 ~0.08 ~6.70 ~0.1] ~5.13 ~575 ~517 ~6.19
FEADE 2 [ £1.50%) E 0.77 0.81 0.39 0.48 0.86 0.04 —0.18 050
m°/h
JiEJ 2R Es
% g SHMAHRENSEEAT
SO EHYEAYEX P
JHADIE 21 %) E
oMAEIE : Omax(+/-15%] LML2HDIIZF] AB [287mm X 210mm}
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HHYXL 2018/05/31 M X MHII(Z)
, _ © FE(%)=V+Es+T+P  T(%)=Tq-Ti/273%100
7 A G1.6 H A AL v _
V(%)=1-Q/Q*100 P(%)}=Pi-Pq/Pi+ tf71et+100
NTISE T Qmax 0.2Qmax =723 Pg Qmax 0.2Qmax
1°C) 7.30 7.30 [Pal 3200 3200
a1 o $39211 139211 139211 134211 139211 139211 139211 139211
L o 039438 000698 039490 206798 037044 039435 000789 039433
3 5050 T | 100800 T | 10090 T | 100.80L 1 | 100.30C [ | 100.20C T [107.00C I [F0T.00L I
2.5 m/h] 100.00L Q V¥ 020 380 530 0.80 030 050 100 100
T BEA Es ~0.04 -0.04 ~0.04 ~0.04 -0.04 -0.04 -0.04 ~0.04
- ‘ 7730 T 730 T 7.50 Tl 7.30 T [ 7.30 T 17.30 i 1730 T 1730 TS
A a |THINHEZXREIXNT 000 .00 0700 500 000 5.60 0.00 000
. . STB0.00— Pl 300000 Pi | 2950.00 Pl | 200000 Pi| 2800.00 Pl | 2750.00 _Pi | 2650.00 Pi | 2650.00 P
FANHASREIX P ~010 —0.19 —0.24 —029 —098 —043 —0.53 053
JEABIE @K [ £1.50%) B 0.06 0.57 0.62 0.47 -0.12 -0.27 0.43 0.33
T 00 e T T 8556 T 1 700,000 T | 100.20L 1 _| 100700 1 | 100.60L 1 | 100,50 I [100.40C I
0.5 m'/hf 100.00L Q V 0.60 030 0.00 0.0 570 580 0] 040
JNEI BEA Es 0.19 0.19 0.19 0.19 0.19 0.19 0.19 0.19
ex | ) T 730 T 7.30 T 7.30 T 17,30 71730 T 1730 T {730 T
w a4 |THOHBEXRZZAT 000 9100 000 0,00 0.00 000 0.00 0.00
; . TE000— P 372000 Pr | 310000 Pi | 3080,00  Pi | 3060.00  Pi | 3040.00 Pi | 3020.00 _Pi | 3000.00 _Pi
 SHOEANAEZIAP ~0.00 —0.08 —0.10 —0.11 ~0.13 —5.15 —0017 519
MHAODE SR [ £1.50%] E 0.77 -0.19 0.09 0.28 0.76 0.64 0.52 0.40
m’/h
JIEHN S8 Es
2% |sunsesn=snT
2 OEg=AGY AP
NATIH 25/ [ % E

mAJ|IFE : Omax{+/- 1.5%)
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LR 2018/05/31 MY 12H91(3)
: . L AE(%)=V+Est+T+P T(%)=Tq-Ti/273*100
7 A G1.6 ] A A ’ o
V(%)=1-Q/Q*100 P(%)=Pi-Pq/Pi+ t)7] %¢*100
NEIIRE TG Qmax 0.2Qmax =129 pg Qmax 0.2Qmax
ey 7.30 7.30 pa) 3200 3200
— 139211 139211 139211 139211 139211 139211 139211 139211
e 006189 039489 032879 037045 032877 032963 087078 006327
3 59700 T 1700300 T | 10070 T | 100.80 L 1 | 100.20L I | 101.00L T __f101.200 [ [101.00L I
25 m/hj 10000 Q  Vp =030 .30 570 | 0.30 0.20 100 120 100
&I BN Es ~0.04 ~0.04 -0.04 ~0.04 -0.04 -0.04 ~0.04 ~0.04
R o ecaams vl 7.30 1] 7.30 T 7.30 T 7.30 T 1 7.30 T 1730 T 1 7.30 T 1730 T
¥ a |FHUHEB=XRZIXT 0.00 0300 0.00 0.00 TI0 000 000 0.00
s 5T L 300000 Di | 2950.00 DI | 290000 FPi| 2800.00  Di | 2750.00 Pi | 2650.00 P | 2550.00 Pi
RO HASNARIA P =0.10 ~079 | ~0.04 029 =038 043 =053 063
FHABLE 23} [ +1.50%] B -0.44 0.07 0.42 -0.03 -0.22 0.53 0.63 0.33
— - T T 10080 L T T 10000 1T [ 70070 L T 1 100.80L 1 | 99.60 1 {10040 T |100.30L I
0.5 m/h| 100.00L Q V 0301 0,50 oM} 0.70 0.80 =) 020 | 0.30
J1ET AN Es 0.19 | 0.19 0.19 0.19 0.19 0.19 0.19 0.19
SR [cormmoceuna 730 T 730 T 730 T 1730 T 7.30 T 750 T 1730 T [730 T
o a |FEHNHESREZAT 000 | 000 000 0.00 000 000 000 | 0.00
‘ - — TR0 00 BT 312000 Pl 370000 Di | 308000 Fi [ 3060.00 Pi | 3040.00  Pi | 3020.00 P |3000.00  Pi
SHHANRGEBAP ~5.00 | —0.08 =5.10 011 —0.13 -0.15 —0.17 =019
JEADIE 2K [ £1.50%) E 047 0.61 0.19 0.78 0.86 -0.36 0.42 0.30
mafh:
NAEN BEA Es
2% |suupssnEanT
~UNHY=NE A P
ZAOEH 2K [ %) E

EJ|=E - Qmax [ +/- 1.5% )
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HE UL 2018/05/31 84 F X MRAII(F)
© AE(%)=V+Es+ T+P  T(%)=Tq-Ti/273+100
= | G1.6 ) = . .
‘ V(%)=I-Q/Q*100 P(%)=Pi—Pa/Pi+ 71100
JIE=JRE Ta Qmax 0.2Qmax JIE=EJ|e 9 Pq Qmax 0.2Qmax
1°c) ] 7.30 7.30 {ral 3200 3200
| o 139211 139211 144212 139211 139211 139211 139211 139211
& B 006233 006235 005853 039439 000779 000777 004102 040030
3 5B T T 190090 T T | 100700 T | 70040 1 | 10060 1 | 10020C 1 |100.90C I 1100.40L I
2.5 m/hp 100.00L Q V 0.60 oo 670 540 560 020 650 040
INEH BB Es —0.04 ~0.04 -0.04 —~0.04 ~0.04 ~0.04 ~0.04 ~0.04
< & ; —— 730 T 7.30 T 7.30 T 730 Tr 1 7.80 T 17.30 T [7.30 i 17.30 T
» a |THUEHBERZINT 000 000 500 0.00 000 000 000 0.00
~ . TES00 BT 500000 Pi 1 295000 Pi | 700000 Pi | 2800.00  Pi | 2750.00 _ Pi | 2650.00 P | 2550.00 Pi
SO HSSAEIN P —0.10 —0.19 504 = —0.38 043 —0.53 —0.63
JpABIE 2K [ +1.50%) E 0.46 -0.13 042 0.07 0.18 -0.27 0.33 ~0.27
o 5020 LT T 70650 C T 1 100800 1 | 100600 1 | 10070 1 | 10050L 1 [100.70L I | 10010L 1
0.5 m/h} 100.00L Q VI 530 050 030 050 070 650 070 010
NEI BRI Es 0.19 0.19 0.19 0.19 0.19 0.19 0.19 0.19
@ & ; \ 7.30 T 7.30 1730 T 730 T 7.30 T 1 7.30 T 1730 T {730 T
¥ a4 |FHUHSERZEAT 0G0 0:00 0.00 0.00 0.00 0700 0.00 000
STE000 - Pr1 312000 Pr| 370000 DI [ 3080.00 _ Pi | 3060.00  Pi | 8040.00 _Pi | 3020.00 DI | 3000.00 _Pi
SO EASAEEAL P ~0.00 =008 —0.70 —541 | —0.13 ~0:15 —0.17 —0.19
JpATIE 2K [ £1.50%] E 0.37 0.61 0.39 0.68 0.76 054 0.72 0.10
m°/h
NS B Es
2 N |sunsesgwEnT
22N EHASALSHAL P
NATE SR [ %] B

MAIE - gmax [+/- 1.5%]
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Al [287mm % 210mm}




JrA0IH&E 3J 5 X

LA

HEBY JIED| : 531628 g A 85 73 0 wE55 %
oL} 2018/05/31 MM I NESTRIES
| _ SAE(%)=V+Bs+ T+P T(%)=Tq-Ti/273+100
™ | G1.6 o 4 _ _
V(%)=I-Q/Q*100 P(%)=Pi-Pqg/Pi+ t7] +100
INEINRE Tq | Qmax 0.2Qmax JIE=J7128 Pg Qmax 0.2Qmax
{"C] 7.30 7.30 {Fa} 3200 3200
. o 139211 139211 139211 139211 129211 139211 139211 139211
71 = M 006188 000738 006186 000699 060780 013378 039442 039440
; 1009011 | 100.00L 1 | 10080 1 | 10030L T 1 10100 1 {10000 0C T 110030 T 110080 1
25 m/hi100.00L Q v 5710 500 580 330 70 610 930 080
NEI| BB Es ~0.04 -0.04 ~0.04 -0.04 -0.04 | -0.04 -0.04 -0.04
£-35 T e m——— Ty T 7750 T 7.30 Ti 1 730 Ti [ 7.80 T 1 7.30 T 17.30 T 17.30 T
» a4 |FEHUBSEXREHAT 00 000 000 000 000 000 000 000
- ore e o1 3100.00 P | 3000.00  Pi] 2950.00 Pi | 2900.00 Pi | 280000  Pi | 275000 T | 2650.00 B | 255000 T
ST EHASNNE A P 570 —0.19 —0 74 079 ~0.38 —0.43 —053 | 053
JFADIE] 2K} [ +£1.50%] E -0.04 -0.23 0.52 -0.03 0.68 -0.37 -0.27 -0.07
3 100,50 L 1| 100300 1 | 10040L T [ 100700 T 1 10010L T | 100.600 T (10080 T 100300 1
0.5 m/hj 10000t Q@ Vr 050 0:30 0.40 0.70 010 060 0:80 0.30
JNEI BEN Es 0.19 | 0.19 0.19 0.19 0.19 0.19 0.19 0.19
2 i e 730 Ti| 7.30 T T 730 i1 7.30 i1 7.30 Tr T 750 T 1730 T 17750 T
¥ & |FHUNHBEREBAT 050 0.00 000 500 0.00 0.60 000 T 0,00
' e o] 318000 PI| 3120.00  Pi| 3100.00_ P | 3080.00  Pi [ 506000 Pi | 304000 Di | 300000 P 300000
SHUEHANAERA P ~5.59 008 =690 =Nl ~0.13 —0.15 =017 =079
JPADIEH 2K [ £1.50%] E 0.67 0.41 049 0.78 0.16 0.64 0.82 0.30
m’/n
JIET BB Es
2R | dNHEENEEN T
na |THUH |
SHOEANGERA P
JLADIE 21 [ %1 g

BHI=E

> Omax [ +/- 15%)

ALATNF

A4 [297mm x 210mim]
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o 3 8 X} 2018/05/31 M T A2AH I (=)
QAE(%)=V+Es+T+P  T(%)=Tq-Ti/273%100
7 0¥ G1.6 B M A 0 > :
V(%)=1-Q/Q*100  P(%)=Pi-Pq/Pi+ t7] =100
NIEVN2ETa Qmax 0.2Qmax FIE=D121 ™ Po Qmax 0.2Qmax
[°c) ‘ 7.30 7.30 [Pal 3200 3200
. s 139211 139211 139211 139211 139211 139211 139211 139211
7l & o 039604 039436 039566 032880 039590 046657 007010 004051
3 T00.40L 1 | 100.20L 1 | 70000 1 | 100.70L T | 70050 L 1 | 70080 1T 1707400 T 170070 1
2.5 m/hl 100.00L Q V 0,40 530 00 070 050 6.00 170 0770
7IET BN Es ~0.04 -0.04 ~0.04 -0.04 ~0.04 -0.04 -0.04 -0.04
R o - 7736 ] 7.30 T 7.30 T 730 i1 730 T | 7.30 Ti | 7.30 T 17.30 i
W & | THIHSZASINT 0.00 0,00 0.00 000 000 1 0.00 000 000
. . 3700.00 _ Pi| 3000.00 Pi| 2950.00  Fi | 2000.00 i | 2800.00 P | 2750.00  Pi | 2850.00. PI 1285000 T
SHOHSSGRE P ~0770 =] —0.24 —079 1 —038 —0.43 ~053 063
JEAUIE] K [ +1.50%] E 0.26 -0.03 -0.18 0.37 0.08 043 0.53 0.03
3 100.30L 1 | 10080 1 | T0070LC 1 | 100500 1 | 100800 1 | 700400 T [9980LC 1 170090L 1
0.5 m/nl 100.00L Q V 030 080 070 050 050 010 020 530
EI BAN Es 0.19 0.19 0.19 0.19 0.19 0.19 0.19 0.19
e xn ' 7.30 1730 T 730 T 7.30 1736 7 | 7.30 Tr 1730 1730 Th
¥ a |THOHSBEXREFIXT 000 0.00 0.00 0.00 0.00 0.00 0.00 0.00
. ‘ 3180.00  PL| 312000 PL| 3100.00 Pi | 3080.00 Bi | 3060.00 Pi | 3040.00 PI 1302000 Pl | 300000 T
~HIEHA=YERA P 0,02 ~0.08 —0.10 —0.11 —0.13 —015 —0.17 =079
JPATE 2K [ +1.50%] E 0.47 0.91 0.79 0.58 0.96 0.14 —0.18 0.90
m’/h
NEN BEA Es
& [T
W | TEHNEHEEREEN T
+HOEHYAAIEHK P
FANE R [ %) E
MEIIE : Qmax [ +/- 1.5% ] LILHIIF) Af [297mm X 210mm}



1/1

Jt A O] E & I =X

THD JIEI : §31628 HAIEH 2% 73 ' a&a%Ees %

AU 2018/ 057 Hi M T} | ALADI(F)

LAE%)=V+Es+ T+P  T(%)=Tq-Ti/273+100

' L G lb H A A _ .
. : V(%)=1-Q/Q*100 P(%)=Pi-Pq/Pi+ t7] 2100
NEINEEL T Qmax 0.2Qmax | JiEJiery po Qmax 0.2Qmax
[°cl 7.30 7.30 [Pal 3200 3200
T A2 DAL DL
00| o8y | wuad
NS5 m/hl 100.00L  Q v
18] BEA Es
>3 |[+zuasz=usant — —
SHNEYHAL R P -
HADE QA [ +1.50%)  E
0.5 m'/n| 10000L Q y
JEI AN Es
o a |sanBeEREanT
S ZI0IEI = APRE X P
FAUE AL £1.50%] B | T
m°/h
JEI B Es
n A |sansesamuxT
~HNEH A=A P
FAME S ( % B

>
40

oy plES A4 (297mm x 210mm]

mEIE - Qmax ([ +/- 15%)



Qmin d & 7| & X

[ ZArgamah) | 0.016 73 16R
2 MY 2018-05-31 A2 A 7169 | oE7|E + 3% ti7|2tpA) | 101340
2k 73 C & 55% AE7[E0E 537305
Bench no
HIEEE 0

+=H 0/ e ESatEF I 9.80 10.00 10.10 9.80 10.10 9.90 9.80 10.10

7| =0 St Q 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
s V=(-Q)/(X100 -2.00 0.00 1.00 -2.00 1.00 -1.00 -2.00 1.00

7| E0[E EEA Es +0.8 +038 +08 +0.8 +08 +0.8 +0.8 +0.8

ilf FET Y Tq 730 7.30 730 7.30 730 7.30 7.30 7.30
7 +HUHEE Ti 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
A 2z BAERK|(%) T=(Tq—Ti)/273X 100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7|1&=0)e{ &= (Pa)Pq 2500.00 2500.00 2500.00 2500.00 - 2500.00 2500.00 2500.00 2500.00
2= 0] & 2 (Pa)Pi 2480.00 2452.22 2424.44 2396.67 2368.89 234111 231333 2285.56
AHBHK| P=(Pi~Pq)/(Pi+PA)X100 -0.02 -0.05 -0.07 -0.10 -0.13 -0.15 -0.18 -0.21

2| & E=V+Es+P+T -1.22 0.75 173 -1.30 1.67 -0.35 -1.38 1.59

o A o(+3%) 0 o] 0 0 0 o] Q 0

Bench no. 9 10 11 12 13 14 15 16
IEEE ‘ 3 110

+Z0/E &I+ ] 10.10 10.00 10.00 9.80 10.00 10.10 10.00 9.90

7| &0]e 5t Q 10.00 10.00 10,00 10.00 10,00 10.00 10.00 10.00

Il e V=(I-0)/ (X100 1.00 0.00 .00 -2.00 0.00 1.00 0.00 -1.00

7| E0HE A Es +0.8 +0.8 +0.8 +0.8 +0.8 +0.8 +0.8 +08

;lr JIEDHEE Tq 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
A SHOH2E Ti 7.30 730 7.30 7.30 7.30 7.30 7.30 7.20
At D HEX| (%) T=(q-TH/273X 100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7|2 0lE Y &(Pa)Pg 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
2=H0[E| & (Pa)Pi 2257.78 2230.00 2210.00 2190.00 2170.00 2150.00 2130.00 2110.00

A BHK| P=(Pi—Pq)/(Pi+PA) 100 -0.23 -0.26 -0.28 -0.30 -0.32 -0.34 -0.36 -0.28
Z|%t E=V+Es+P+T 1.57 0.54 0.52 -1.50 0.48 1.46 0.44 -0.58

o H (£3%) 0 0 0 0 o} o) 0 o}




| Z2argaiman | 0.016 4 4 16 R
2 A 2018-05-31 HeA7|6 BHyIIE £ 3% ei71etpa) | 101340
2 & 73 °C & & 55% ALE7|=0|E 537305
Bench no. 17 18 19 20 I E 3 4
I E Y=
+ZD|E S [ 10.00 9.90 10.10 10.00 9.90 10.10 10.00
7| E0|E S+ Q 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
il v=(f-)/@x100 0.00 -1.00 100 -2.00 0.00 -1.00 1.00 0.00
ZIEO S REEK| Es +0.8 +0.8 +0.8 +0.8 +0.8 +0.8 +0.8 +0.8
;L 7|EOE 2R Tq 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
2 FHOH2E Ti 730 7.30 7.30 7.30 7.30 7.30 7.30 7.30
o | B=EFR ) T=Tq-TD/273X100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7| E0/E{ Y H(Pa)Pg 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
0| B 2 (Pa)Pi 2090.00 2070.00 2050.00 2030.00 2480.00 2452.22 2424.44 2396.67
YHHHK p=(Pi-Pq)/(Pi+P4) 100 -0.40 -042 -0.44 -0.45 -0.02 -0.05 -0.07 -0.10
21% E=V+Es+P+T 0.40 -0.62 1.36 -1.65 0.78 -0.25 1.73 0.70
) B o(£3%) o) 0 0 0 o} 0 0 0
Bench no. 8 9
N EHE 260 T2 it )
=0 e St [ 9.90 1010 9.80 10.10 9.80 10.00 9.90 10.00
7| E0|HEE Q 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
i V=(/—-0)/Qx100 -1.00 1.00 -2.00 1.00 -2.00 0.00 -1.00 0.00
7| =0 HEHA Es +0.8 +0.8 +0.8 +0.8 +08 +0.8 +0.8 +08
; 1 JIE0HEE Tq 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
A +Zd0E2E Ti 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
n SCREX| (%) T=(Tg-Ti)/273X 100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7|Z0/H 2 3EH(Pa)Pq 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
S0/ Y H(Pajpi 2368.89 234111 231333 2285.56 2257.78 2230.00 2210.00 2190.00
QAKX p=(Pi—Pq)/(Pi+PAX100 -0.13 -0.15 -0.18 -0.21 -0.23 -0.26 -0.28 -0.30
21& E=V+Es+P+T -0.33 1,65 -1.38 1.59 -1.43 0.54 -0.48 0.50
o  o(+3%) o) 0 o] 0 o} ol 0 0




A0 HAEINEX
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HAHD 21=7] : 531628 HAIEE e 73 I &E55 %
HEY} 2018/05/31 MM M HII(ZE)
] ! L AE%)=V+Es+ T+P T(%)=Tq-Ti/273*100
7 3 G2.5 A A v o
V(%)=I-Q/Q+100 P(%)=Pi-Pq/Pi+ 7] 4+*100
NEIRE T Qmax 0.2Qmax JI=EJI2S Pg Qmax 0.2Qmax '
{°e) 7.30 7.30 [§:F:1] ‘ 3200 3300
- 134311 134312 134311 134312 134311 134312 134312 134312
7w ou 224792 059497 220813 053071 220812 053368 053607 053367
5T 0060 L T | 101000 I | 700000 1 | 101.60L 1 | 101.40LC 1 [ 101.80C 1 | 101.00L 1 1102.00L 1
40 m/hp 99.80L Q ¥V 070 T30 1 100 170 7501 7951 560 5790
77| B Es ~0.55 -0.55 ~0.55 -0.55 -0.55 -0.55 ~0.55 ~0.55
2 %} —————— T} Tl 7.30 T 7.30 Ti | 7.30 Ti [ 7.30 T 1730 T8 1730 T 1730 T
A N |THIHEEREIANT 000 000 000 000 000 000 000 1 .00
: s e0.00 " Pi | 280000 Pil 2750.00 Pi | 260000 Pi | 5400.00 Pi | 2950.00 Pi 12700.00 Pi |1900.00 B
SO HSSGEIA P —014 | ~038 —0.43 —0.58 077 ~0.90 =106 =126
JHABIH 2 [ £1.50%) E. 0.01 0.17 0.02 057 0.18 043 0.39 0.29
PO 10090 L 1 1 100500 1T 1 10080 1 | 10080 1 1700700 1 ] 100.90L 1 110080L T _ |100.70L 1
0.8 m/h 100.00L Q V 580 0.00 050 080 070 986 586 576
&) S Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
2 xt T s el 7.30 Til 7.30 T 730 Tr ] 7.30 TT | 7.30 T 17.30 T 1730 1 1730 T
o & |FHIHB=ANRIAT 0.00 .00 0.00 0.00 0.00 000 | 000 | 0.00
— . 356000 Pi| 3150.00  Pi| 3170.00 Fi| 3170.00  Pi| 2150.00  PL 1 3100.00  Pi | 3050.00 Pi 13000.00 b
FHIHA=ATHAIP Z0.10 0.4 ~0.17 ~0.17 —0.14 =0.10 —0.04 0.9
JAUEH A [ +1.50%] E 0.86 0.82 0.84 0.74 0.62 0.77 0.62 047
m°/h '
JNE BEA Es
o SUNHEENREA T
D EHY=E R A P
JIADIH SR %) E
MEIE : Qmax [ +/- 1.5%) MHITHFE] A4 [297mm X 210mm}
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AODHZAHAIN= I
A0 = = X
H4-HD J1&7] : 531628 A A 25 73 0 &g 55 %
HE YU 2018/05/31 R ALH I (=)
. QAE(®%)=V+Es+ T+P T(%)=Tq-Ti/273%100
7 % G2.5 BN A > _
] V(%)=I-Q/Q+100 P(%)=Pi-Pq/Pi+ 7] *100
JNEII2E Ta Qmax 0.2Qmax JIE=o129 Pg Qmax 0.2Qmax
[°c) 7.30 7.30 [Pa) 3200 3300
. o 134312 134312 134311 134312 134312 134312 134312 134311
& oW 059477 026687 224696 059503 053361 059516 053397 204673
3 00300 T 1 700800 I | 107800 T 1 10050L 1 1 J07.00L T | 10070 T [101.90C 1 [101.30L 1
40 m/nhf 100.00L Q V 536 0.80 80 0.50 1300 0.76 190 T30
&7 BER Es -0.55 ~0.55 ~0.55 -0.55 -0.55 -0.55 ~0.55 -0.55
- . , 7.30 Tl 7.50 Ti| 7.30 Ti | 7.30 T | 7.30 T T 730 Ti 17.50 1730 T
¥ a |THOUHSEREIAT 000 0.00 0.00 6700 | 000 000 000 000
—— - 05000 BT 1 280000 Pi | 275000 Pi | 280000 P 2400.00  Pi | 2750.00  PL | 2100.00 . PL | 1900.00 i
e e —0.14 —0.38 ~043 —058 | ~0.77 —0.97 ~106 176
ZhA DHE R} [ +1.50%] E -0.39 -0.13 0.82 -063 | -032 -0.77 0.29 -0.51
3 TBEE0 L T 1T 100000 T 1 99800 1 [ 100400 1 [ 100400 1 | T01.00L I_[100.70L 1 [101.i0L 1
0.8 m/nhf 100.00L Q 'V 0D 096 040 Ta0 | 040 770 0.70 110
JNTI BEN Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
2 % 7.30 T 730 T 7.30 T [ 7.30 T 1 7.50 Ti [ 7.30 T7 | 7.30 T 1730 T
wa |THOHSERZIEAT 000 0.00 .00 .00 000 000 900 000
. T506.00 DIl 315000 Pi | 317000 Pl [ 3i70.00  Pi] 3150.00  Pi | 3100.00 Pi | 3050.00 Pi ]3000.00 P
SHIHAHEATZR P =510 ] ~0.14 512 —512 014 =519 —0.04 ~029
NAHE 2 [ £1.50%] E 0.56 0.82 -0.46 0.34 0.32 097 0.52 0.87
malh
INEH BN Es
ex [ .
W a |FUUHSEXSINT
SO EYSAE S A P
TEATE S [ % E
M2AHJIF] A4 [287mm X 210mm)}

TEIE @ Omax [+/- 15%)
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FHD JIED| 1 531628 HAEA 2% 73 ¢ &x 55 %
HE X} 2018/05/31 M T} AMLHI(Z)
_ SAE(%)=V+Es+T+P T(%)=Tq-Ti/273*100
7 z G2.5 H M A 0 _ _
V(%)=I-Q/Q*100 P(%)=Pi-Pq/Pi+ 7] ¢+ 100
INTINESET Qmax 0.2Qmax =128 Pqg Qmax | 0.2Qmax
1°c) ] 7.30 7.30 [Pa) ‘ 3200 3300
. 133311 133311 133311 133311 133311 133311 133311 133311
B 072242 072309 072349 072179 072197 072134 072188 072183
3 TO0.80 L 1 | T00.70L 1 | 01800 1 | 100100 T | 101500 T [ 100800 T 1 101.40T T 1102.00C 1
4.0 m/nf 100.00L Q@ V ) .70 %0 10 7501 080 140 5100
&N A Es -0.55 -0.55 -0.55 -0.55 ~0.55 ~0.55 ~0.55 -0.55
=35 S SO ———— T, i1 7.30 T 730 T 7.0 T 7350 T | 7.30 T 17.30 T 1750 T
W a |THUHSZ=REIXT 000 000 0.00 000 000 | 000 0.00 000
. 305000 Pi| 5B00.00  Pi| P750.00  Pi | 2600.00  Pi | 2400.00  Pi ] 225000  Bi | 2100.00  Di 11900.00  Pi
FHIHA=ASFE A P —014 ~038 ~0.43 =058 —0.77 —0.90 —1.06 178
JPATE 2R [ £1.50%] B 0.1 -0.23 0.62 -0.03 ; 0.18 -0.67 -0.21 0.19
5 T0050 T T [ 700.80 L 1 170080 T 110080 L 1 [ 0070 1 170700 T 101000 1 1100.90T 1
0.8 m/h} 100.00L Q V 050 080 5.96 0,50 070 50 170 550
JNET] HA Es 0.06 | 0.06 0.06 0.06 0.06 0.06 0.06 0.06
ex [ . 7750 T 730 T 730 TI 1730 1T 7.30 T ] 7.30 T 17.30 T 1750 oy
o a4 | FHOIHSEXRZRIAT 000 000 0.00 0.00 0.00 0.00 | 0.00 0.00
. 320000 Pi| 3150.00  Pi| 3170.00  Pi] 3170.00 Pi | 3150.00  Pi | 8100.00  Pi | 3060.00  Fi 300000 b
sHNHERNYEZEAP =5°10 “0714 51D =P —014 —0.19 ~024 —0.09
TEADEE 22X [ £1.50%) E 0.46 0.72 0.84 0.44 .62 0.87 0.92 0.67
m°/h '
B BEE Es
ig SHNHSEANFE S T
SN EY=EASE N P
JADIE X [ %) E

MAJI= : Qmax [ +/- 1.5% ]

MHIIF]

Ad [287mm x 210mm}
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HEMY JIED| : 531628 HAIgH g5 73 ¢ &0 55 %
HEYUXF 2018/05/31 MM I ESPIES
LAE(%)=V+Es+T+P T(%)=Tq-Ti/273%100
7 A G2.5 WA A ’ o
V(%)=1-Q/Q*100 P(%)=Pi-Pq/Pi+ t]7] ¢}*100
NEJNLE T4 Qmax 0.2Qmax J=J| 9 pg Qmax | 0.2Qmax
{°c) 7.30 7.30 [Pal 3200 3300
_ - 133311 133311 133311 133311 133311 133311 133311 133311
71 & = 072356 072396 072126 072207 072203 072357 or2482 | 072308
o § T0050 L 1T | 07400 T | 101200 1 | 10T60L T [ 10080L T | 107800 T 10720 1 1102200 1
40 m/nf 100.00L Q V 0561 140 130 50 5801 T80 130 530
ANEI] A Es -0.55 ~0.55 ~0.55 ~0.55 ~0.55 ~0.55 ~0.55 ~0.55
e A AT it 7750 Tl 7.30 Ti | 7.30 Tt [ 7.30 Ti 1 7.30 Ti.| 7.30 T 17.30 T | 7.30 T
¥ n |THOIHEERSIXT 000 0.00 0.00 0.00 0.00 0.00 000 500
- PR 1305000 pi | 2B00.00  Pi] 275000 P ] 7600.00 Pi | 2400.00 Pi ] 7750.00 Pi 1270000  Pi 1190600 D
SHOHESAEANU P ~014 —0.38 —0.43 —0.58 —0.77 —0.92 —1.06 -
ZEAOIE A} [ +1.50%) B -0.19 0.47 0.22 0.47 -0.52 0.13 -0.41 0.39
3 0080 T T 1700500 1 [ 70070 L 1 | 70080 1 | 10090 1 [ 101.00L 1T 1107T00L 1T 1300401 1
0.8 mi/hj 10000L Q VvV 080 | 350 370 080 550 100 1.00 0,40
INET BEN Es 0.06 | 0.06 0.06 0.06 0.06 0.06 0.06 0.06
e o . T T T 730 T 7.30 T [ 7.30 T { 7.30 T7 [ 7.30 T 1730 T 1750 0
» a4 |[FEHIHEENZIXAT 000 000 000 000 000 000 1 000 0.00
— 500,00 DI | 315000 Pi| 317000 DPi| 3170.00 DL | 315000 Pi | 310000  Pi | 306000  DPi 1300000 I
=HOHA=AT A P ~0.10 =574 =012 =N =074 ~0.19 —0.04 —0.59
JEADIE @A [ £1.50%] E 0.86 042 0.64 0.74 0.82 0.87 0.82 0.17
m°/h
FIE B Es
2 A SHOHREAEAA T
I
27 0 E Rt S AP E K] P
JMARIEH 24 { %] E
WHIIE : Qmax [ +/- 1.5%] MHIIIZFE) A% (267mm X 210mm}




Jr20HE 8Jl =X

1

HEHE J1=7| : 531628 adaaA 2L 73 %0 a5 55 4
L P 2018/05/31 MM X 12 H I (=)
— O AE(B)=V+Es+T+P T(%)=Tq-Ti/273+100
7 9 G2.5 B M A 7 > _
V(%)=1-Q/Q+100 P(%)=Pi-Pq/Pi+ % 7] &+100
NEIETq Qmax 0.2Qmax JIEJ| 29 Pg Qmax 0.2Qmax
1°c) 7.30 7.30 [Pa) 3200 3300
s 133311 133311 133311 133311 133311 133311 133311 133311
7l & # 072340 072153 072395 072167 072305 093727 072087 072115
3 100.80 T | 101.80L 1 | 10070 I [ 101000 T | 701.60L T 1102000 T 170220 T 1767301 1
4.0 m/h} 100.00L Q V 6.80 1730 0.70 70 [0 500 530 130
&I BB Es ~0.55 ~0.55 -0.55 ~0.55 ~0.55 —0.55 -0.55 ~0.55
-3 (S =170 T 730 T 730 Ti 1730 730 Ti 1 7.30 T 17.30 T 1730 T
W a |THUHESREZINT 0700 000 000 000 0.00 000 0.00 000
v | 3080.00 Pi] 2800.00 Di| 2750.00  Pi| 2600.00 DI | 2400.00.  Pi | 295000 Pl {270000 P 1190000 — B
=HUHANAERA P ~014 —0.38 —0.43 —0.58 =577 507 —1.06 =176
JhAOLE 2K [ +1.50%) E 0.11 0.37 -0.28 -0.03 0.18 - 053 0.59 051
3 100.30 L 1 | 10050 L I | 100.70L 1 | 10090 1 | 1074100 I ] 10080 L 1 700500 T 10070 T
0.8 m/nhf 100.00L Q@ V 030 | 050 070 0.0 710 0.60 050 070
JIEA HA Es 0.06 0.06 | 0.06 0.06 0.06 0.06 0.06 0.06
2 1 - ~—17.30 T 7.30 T 7.30 T 1730 T 7.30 T 7.30 T 17.30 T 17.30 T
¥ a4 |THOHEZREIAT 000 0.00 0.00 060 0.00 0.00 .00 0.00
3200.00 Pi| 3150.00 Pi| 3170.00  Pi | B3170.00  Di| 315000 D1 ] 310000 Pi | 305000 P 300000 b
SHIHARGEZA P =010 =0.14 = %P =017 —0.14 015 —0.04 =025
JhAWE A& [ +1.50%]) E 0.26 042 0.64 0.84 1.02 0.67 0.32 047
m’/hf
TN Ay Es
= & =UNEHESHE R AL
SHOHYE LSRR P
TADEH 2% { % E

A= : Qmax(+/- 15%)

AL2HIF)

Ad (297mm X 210mm}




1/1
A J| = X
JtA00HA . |
HEHE J1Z=7| : 531628 HAEH 5 73 0 &5 55 %
HB YT} 2018/05/31 M X NAIN(E)
. OFE(%)=V+Es+ T+P  T(%)=Tq-Ti/273%100
- 2 G2.5 ) I ’ o .
_ V(%)=1-Q/Q*100  P(%)=Pi-Pq/Pi+ t]7] $+100
NT|IJI2ETa Qmax 0.2Qmax J1z=01 28 Pg Qmax 0.2Qmax
°cy 7.30 7.30 [Pal ' 3200 3300
| o 133311 133311 133311 133311 133311 133311 133311 133311
IR R 072364 072266 072184 072035 072282 072074 072358 072234
; 5060 T T 101000 T | 107500 1 | 10080L 1 ] 107300 I | 101.70C T 10200 1 [101.40L 1
40 m/hf 10000L Q V¥ 0.60 100 150 0.80 130 ] 170 500 170
NEN B Es ~0.55 -0.55 -0.55 -0.55 -0.55 | ~0.55 -085 |  -055
g & o e ] 7.30 Til 7.30 T 730 Ti | 7.30 Ti{ 7.30 Ti | 7.30 T 17.30 711730 T
¥ a4 |THUHEERZIANT 000 1 000 0.00 0.00 000 1 0:00 000 000
— T 305000 pr T 280000 B | 275000 i | 260000 Pi | 2400.00  Pi | 2250.00 b1 | 2100.00  Pi_]1900.00 _ Di
SHOHANAEE P —074 | —0.38 —0.43 =058 —0.77 —0.97 —1.06 76
JPADIE] 2K [ :1.50%) E -0.09 0.07 0.52 -0.33 -0.02 0.23 0.39 -0.41
5T ' 0060 L T T 700200 T [ 70080 1 [ 10100 1 | 100500 T | 100.00L 1 | 10040L 1 |10080L 1T
0.8 m/nhf 100.00L Q V 080 040 080 700 | 350 000 040 556
 J1E=01 REX Es 0.06 0.06 0.06 0.06 | 0.06 0.06 0.06 0.06
2 % . _ 7.30 1730 i1 7.30 T [ 730 T T 7.30 1730 T 1730 T 17.30 T
wa |FEIHESES=AZRIXANT 0:00 0.00 0.00 0.00 | 0.00 000 1 000 0700
. p— . R500.00  Di | 315000 Pi [ 317000 Pi | 317000 Pi | 375000 Pi | 3700.00  Pi | 3050.00_ Pi |3000.00 Di
 FEHOEASEAZIAP ~6.10 —0.14 ~G.12 —57% | =514 —0.19 =024 529
JEADIE 28 [ £1.50%] E 0.56 0.32 0.74 0.94 0.42 -0.13 0.22 0.67
malh
NEI BB Es
A L anEeEREENT
na T :
SHUEY=EAY AT P
JADIE 2K ( %) E

TEIIE : Qmax [ +/-1.0%)

LULHINZF]

A& [287mm X 210mm}
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n

HAMS J1Z=7| : 531628 HAPSH 25 73 ¢ &5 5 %
X R 2018/05/31 M2 I} RESTRIES
O AE®)=V+Es+ T+P  T(%)=Tq-Ti/273+100
7 9 G2.5 A A 7 _ _
V(%)=I-Q/Q*100 P{(%)=Pi-Pq/Pi+ o 7] &+100
JNE=IRT 1q @max 0.2Qmax JI=J|2¥ Pg Qmax 0.2Qmax
[°c) 7.30 7.30 [Pal 3200 3300
. o 133311 133311 133311 133311 133311 133311 133311 133311
7o W 072317 072438 072321 072278 072246 072173 072258 072281
3 5080 T 1 0750 T [ 10770 T | 700.80C 1 | 10020 1 | 101400 I [ 10270L T |101.60L 1
4.0 m/nhf 10000L Q V 080 150 170 0.90 720 1740 530 T80
&7 BEA Es ~0.55 ~0.55 ~0.55 —0.55 —0.55 ~0.55 ~0.55 ~0.55
ex [ , — 17730 Til 7.30 T 1 7.30 1730 T T 7.30 Ti [ 7.30 T 1730 T 1730 T
o N |TEHUHESXRZIANT 000 000 000 000 6700 000 000 0.00
o505 pi | P800.00 Pi | 275000 DI | 260000  bi | 740000 Pi | 2050.00  Pi | 2100.00 DL | 1900.00 P
FHNHAEEIA P —0.14 —5.38 —575 ~058 077 | —0.92 ~106 76
HAA0H K[ £1.50%]) E 0.11 0.57 0.12 -0.23 -0.12 -0.07 0.49 -0.21
5 5550 T 1700300 T 1 10070 L T | 10060 1 [100.00C T | 101.00L_ 1 |101.10L T [10080L 1
0.8 m/h 100.00L Q V 550 030 0.70 .60 510 7760 170 .80
NEI| BEX Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
2 —17.30 il 7.30 T 7.50 1730 T 1 7.30 i [ 7.30 T [7.30 T 1730 TS
o a4 |THNHEEREZAT 0.00 000 060 .00 500 000 .60 0.00
. . 250000 DI 315000 Pil 317000 Pi | 3170.00 Pi | 3150.00  Pi | 8100.00  Pi [ 3050.00 Pi |3000.00 Pi
FHIHARAGEIAP ~5.10 —0.14 =Nl —§17 “014 =019 ~554 ~559
MNABE A [ £1.50%] E 0.46 0.22 0.64 054 0.02 0.87 0.92 0.57
m°/h
&I HEQ Es
21 .. .
X o | FHUEHBSRRENT
SHO sSSP
JIAHE SR % £

mAEIIE - Qmax [ +/- 1.5%])

LILADIEF)

A4 [297mm x 210mm]
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HEYUTH 2018/05/31 N Y X EVRIIES)
— _ _ L AE(%)=V+Es+ T+P T(%)=Tq~-Ti/273+100
i = | G2.5 H M 0 . .
V(%)=I-Q/Q+100 P(%)=Pi-Pq/Pi+ tj 7] &+100
IEINRE T(I Qmax 0.2Qmax Ji=J|er8 Pg Qmax _ - 0.2Qmax
1°c} - 7.30 7.30 [pa) 3200 3300
R 133311 133311 133311 133311 133311 133311 133311 133311
R 072314 072384 072224 072244 093755 072221 093833 072176
3 00300 1 | 100800 T J 10070 L 1 L 10T40L T | 10110 T | 101.00L T |10T.80L 1 |101.40L 1
4.0 m/hj 100.00L Q V 030 080 070 1740 101 190 180 1740
I8 B Es -0.55 ~0.55 ~0.55 -0.56 ~0.55 ~0.55 ~0.55 -0.55
=35 S peree———————— ) Tl 7.30 T 7.30 T [ 7.30 T 7.30 Til17.80 Ti | 7.30 T1 [7.30 T
w a |THUHEEXREZAT 0.00 000 000 0.00 0.00 0.00 0.00 0,00
' g — 1305000 Pi] 2800.00 Pi] 2750.00 P | P600.00  PI | P400.00  PL | 2250.00  Pi | 2100.00  PI | 190000 b
FHlHA=AZZA P 014 | —0.38 ~0.43 058 077 —0.92 ~1.086 =126
FHAUE DX [ +1.50%)] E -0.39 -0.13 -0.28 0.27 -022 | 043 0.19 -0.41
3 T 100.80 L T | 100.00C 1 [ 10680 L T | T0070L 1 | 10050 1 | 100.10L 1 [ 100.80L I |101.200L 1
0.8 m/h} 100.00L Q V 080 7200 0.50 0.70 3.50 0.10 680 120
JEN BEA Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
2 % — ] 7.30 1 730 I 7.80 TI ] 7.30 Ti | 7.30 Ti | 7.30 TL 1 7.30 T {7.30 T
N a4 |THIHESEAZZAT 0.00 000 0.00 0.00 0700 000 .00 000
' —————— 1 3500.00_Pi| 8150.00 b1 | 3170.00 P | 317000 PL| 3150.00 Dl | 3100.00 DI |3050.00 DI | 300000  b%
FEHAHASAEZA P =010 —0.14 —0.12 0.1 .74 ~0:19 =024 ~0.09
NATIEH A [ £1.50%] E 0.76 0.92 0.84 0.64 0.42 -0.03 0.62 0.97
m*/h
JEI BN Es
2R qunesasEnT
W& |[TRUH '
SO0 HYEAEHA P
JtADE 2X [ % E

mHIIE

: Qmax [ +/- 1.5%)

HULRAHDNF)

A4 (287mm x 210mm)
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HE X 2018/05/31 &8 ¥ X 127 (F)
QAE(®%)=V+Es+ T+P  T(%)=Tq-Ti/273%100
3 G2.5 y IR ’ o
' V(%)=1-Q/Q*100 P(%)=Pi-Pg/Pi+ U 7] &+ 100
NEJR2E Tq | Qmax 0.2Qmax JIZEJIYUH Pa Qmax 0.2Qmax
[°C] - 7.30 7.30 [Pal 3200 3300
s 133311 133311 133311 133311 133311 133311 133311 133311
R 072391 072449 072341 072383 072343 093867 072287 072222
3 T0050L T | 100400 T | 101.80L 1 | 100.80L 1 | 101,000 T 1 101700 T 1107000 T 170700 T
4.0 m/hf 100.00L Q V 050 040 1.80 173071 1.00 170 1760 2.00
AET BB Es ~0.55 -0.55 -0.56 -0.55 ~0.55 -0.55 -0.55 -0.55
2 1 ‘ - 730 T 730 Ti 7.30 T 730 TL| 7.30 Ti [ 7.30 1730 T 1 7.30 T
Ny |TEHOHEEREINT .00 0.00 0.00 0.00 0.00 000 0.00 3.00
— 3050.00 _ Pi| 280000 Pi| 2750.00  Di | 2600.00  Pi | 2400.00 Pi | 295000 P 1270000 b 1 1960.00 "B
SEIHE=ASIXF =014 —0.38 —0.43 —058 | —0.77 002 ~1.06 —126
JpADIE X[ +£1.50%) E -0.19 ; -0.53 0.82 0.17 -0.32 0.23 0.29 0.19
P Y 10050 L1 | 10020L T | 99.80L 1 | 100.00L T | 100.70C T 1 10030C T (100500 T 176040 1
0.8 m/h] 100.00L Q Vv 050~ 020 010 0.00 570 5.30 050 040
NEN BENM Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
2 1 730 Tl 7.30 T 7.30 T 730 T [ 7.30 T 1 7.30 T [7.30 T 1730 T
M a |TEHNHEEREINT 0.00 0.00 0.00 0.00 000 000 0.00 0.00
320000 Pi| 3150.00 Pi| 3170.00  Pi| 3170.00  Pi | 315000 Pi [ 370000 Pi | 305000 Pr 1300000 i
SHIHARAEIR P 0,10 —0.14 —0.12 —0.12 ~0.14 0719 —0.24 0,29
NABIEH 2K [ £1.50%) E 0.46 012 -0.16 ~0.06 0.62 0.17 0.32 0.17
3
m'/h
JE BEX Es
N |sunEEEREEN T
SHOHABAQE S P
JNABIEH 2K ( % Ok

M™IIE - Qmax [ +/-15%]

AULADIF)

A4 [297mm x 210mm}
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HEYT 2018/05/31 o8 H X MADN(F)
, ‘ - ‘ LAE(%)=V+Es+T+P T(%)=Tq-Ti/273%100
" 4 G2.5 b R ’ P
V(%)=1-Q/Q+*100 P(%)=Pi-Pq/Pi+ 7] ¢+100
JE=Jes Tﬂ Qmax 0.2Qmax =D Pa Qmax 0.2Qmax
[°c) ] 7.30 7.30 ra) ' 3200 3300
- ) 133311 133311 133311 133311 133311 133311 133311 133311
S IR - - 072307 072375 072294 072269 072310 | 072301 072156 072453
3 10080 1 | 101.80L 1 | 101.00L I | 100.80L I [ 101400 T | 101.00 L 1 | 102200 T 170790 I
40 m/hf 100.00L Q V 080 130 106 0.80 {40 .60 250 1 180
NEN B2EA Es ~0.55 | -0.55 -0.55 -0.55 -0.55 -0.55 -0.55 -0.55
exn [mmmo P 30 Ti| 7.30 Til 7.80 Ti | 7.30 T | 7.30 Ti [ .7.30 Ti | 7.30 Ti 17.30 T
W a |THUHEZRSIAT 0.00 000 6100 000 0.00 000 0.00 000
' =t 1 ior et et o] 3050.00  Pi] 2800.00_ DPi| 2750.00  Pi | 2600.00 Pi| 2400.00  Pi | 2250.00  bi 1210000 Pi 11900.00 B
FHRNHASNGLEIA P —0.14 —0.38 —0.43 -0.58 —0.77 | -0.92 ~1.06 -1.26
JNAOH 2K [ £1.50%) B 0.11 0.37 0.02 -0.33 0.08 -0.47 0.59 0.09
3 T~ | 100,80t 1 | 10050 1 | 10080 L 1 [ 100.90L 1 | 100.70C 1 | 10L10L T |100.00 L T 1700300 1
0.8 mi/n| 100.00L Q Vv 0.90 050 0.30 080 070 110 0.00 0.30
ECETT Es| 0.06 | 0.06 0.06 0.06 0.06 0.06 0.06 0.06
& A pRp—— I <] T 730 Ti1 7.30 L 7.30 T 730 TL | 7.30 T 1 7.30 TL 1 7.30 T
N a |FHIHSERSSAT 000 000 0.00 .00 0.00 0.00 0.00 0.00
— 3200.00__ Pi]_3150.00  Pi | 3170.00 _ Pi| 817000 Pi} 3150.00  Pi | 3100.00  Pi 1305000 Pi [3000.00 b
SHIHA=RZIA P -0.10 ~0.14 =012 —0.12 ~0.14 =019 —0.24 | ~0.2%
FEABIE 2F [ £1.50%] E 0.86 0.42 0.24 0.84 0.62 097 -0.18 0.07
m3/h .....
I BEX Es
2R sunmEsREAT
W4 |[rabd '
SO ES=E RN P
JIADIE @K% ¢ %) E
mAIIZE - Qmax [ +/- 1.5% ) YULAHIIF] A4 [287mm X 210mm}




A0 HEAE &

£ X

1
1/1

Il
.

= = ke J1E0! : 531628 A gx 73 ¢ 2E55 %
o & # At 2018/05/31 MBI MSH (=)
S AE(%)=V+Es+T+P T(%)=Tq-Ti/273+100
ha b G2.5 H & A ’ . :
V(%)=I-Q/Q*100 P(%)=Pi~Pq/Pi+ tj7]}+100
NENEE Tq Qmax 0.2Qmax J=J19 Pg Qmax - 0.2Qmax
°cl 7.30 7.30 [Pa) 3200 3300
133311 133311 133311 133311 133311 133311 133311 133311
7 E W= 072130 072186 072422 072483 072400 072229 072413 072366
T 10040 L T 1 107000 T [ 701800 T [ 100700 1 | 107500 1 1 100800 T | 102000 T 110180 1
4.0 m'/hp 100.00L Q@ V 0.40 110 130 5751 156 .90 576 T80
JIEY ERA Es 0.55 ~0.55 ~0.55 -0.55 —0.55 ~0.55 -0.55 ~0.55
2 % - 1 7.30 T 750 i1 7.30 T 730 T 1730 1730 T 17,30 T 750 T
W a4 |THONHEEXRZFEAT 000 000 0.00 .00 0.00 0.00 9.00 0,00
” 1305000 bi | 280000 Pr 1 2750.00 Pi | 280000 . bi| 240000 Pi | 295000 P | 210000 B |7900.00 b
FHMNHARAEIA P ~014 —0.38 ~043 ~058 077 1 —5.07 —1.06 ~1.76
JABIE 2K [ £1.50%] E -0.29 0.17 0.32 —043 0.18 -0.57 0.49 -0.01
' : 000 L 1 1 10030 1 1 100400 1 [ 70080L 1 [ 100.80L 1 | 100700 1 _170080L I |100.90L 1
0.8 m'/hp 100.00L Q V 0.80 030 040 R .80 570 G806 670
IEI| BEX Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
ex [T ) 730 1730 T 7.30 T [ 7.30 Ti [ 7.30 Ti [ 7.30 T7 [ 7.30 T [7.30 T
¥y a4 |THOHESEEXRRINT 0.00 0.00 0.00 0.00 0.00 000 0.00 0.00
" 350000 Di] 315000 Pi | 3170.00  Pi| 317000 b1 | 3150.00  bi | 3700.00  Pi | 30650.00  br 1300000 bi
22 DI H S U AR R P 030 ~014 573 =AF 014 019 ~074 <029
TYADE 2K [ +1.50%) E 0.76 0.22 0.34 0.84 0.72 0.57 0.62 -0.13
m*/h
JIE BE Es
ex [T
SNBSS LA P
JNANE 2R % E

nEINE

> Qmax [ +/- 1.5%]

LULAHDIIF)

Af (297mm ¥ 210mm}
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HEMT J1=7| : 531628 HAISEA 25 73 0 &5E55 %
HEYXL 2018/05/31 MM MHII(E)
- 2 o5 . 2 HE(%)=V+Es+T+P T(%)=Tq-Ti/273+100
) . A = ™
V{(%)=I-Q/Q+*100 P(%)=Pi~Pq/Pi+ tj7] &+*100
NEIIRE T Qmax 0.2Qmax =728 Pg Qmax 0.2Qmax
(e} 7.30 7.30 {pa) ' 3200 3300
o oW o 133311 133311 133311 133311 133311 133311 133311 133311
- 072178 072252 072270 072295 072250 072414 072380 072481
s T0T70C T | 100800 1 | 10090 T | 10080L 1 | 101.50L 1 | 101.30C 1 1100500 T |[101.60L 1.
40 m/h 100.00L Q V 0] 0.80 3.50 0.80 150 130 2201 150
&I SR Es -0.55 -0.55 -0.55 -0.55 -0.55 -0.55 -0.55 -0.55
'?:;! g DR pspepepepy g AN 1 I A ¥ B R 730 T7E0 T 7.30 O_Ogi Y 17.30 r:
i vy — T 505000 Pil 280000 Pi| 275000  Pi | 2600.00  Br 1 2400.00  Pi | 2250.00  Pi | 2100.00 P | 1900.00 P
FEH N HASEASEEA P —0.14 —0.38 _ —0.43 —0.58 —0.77 —0.99 ~1.06 =126
NADIE 9K [ 15061 E| 041 —0.13 -0.08 -0.33 018 | -0.17 059 031
— 10070 T T | 700600 1 | 100300 T | 100.80L 1 f 100.40L 1 | 100800 1 (10040 1 _1100.60L 1
0.8 m/h} 100.00L Q V 570 060 530 080 040 550 5746 X0
JlET 22N Es 0.06 0.08 0.06 0.06 0.06 0.06 0.06 0.06
2 1 R 730 TI| 7.30 TT | 7.30 T 7.30 Ti [ 7.30 T | 730 1773506 T 1730 T
W a |THIHESEXREFXT 0.00 000 0.00 000 000 0.00 000 | 000
— 3560.00 Pi1 3150.00 P | 3170.00 P § 3170.00  Pi | 3150.00 Pi | 310000 Pi | 305000 P |3000.00 B
HIHS=AE A P =010 | ~0.14 =0.12 =571 ~514 —0.19 —0.04 —0.09
JHADE 2% [ £1.50%] E 0.66 0.52 0.24 (.74 0.32 Q.77 0.22 037
m*/h '
HEI B Es
N |ranHzExswAT
AU EHY= LS P
JIATEH 27 [ %) E

mMEII=E @ Qmax{ +/- 1.5%)

AL HII=F]

Ad [207mm X 210mm}
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A0 HEASZINS A

LAY JIEJI = 531628 HAIEE g 73 "¢ &% 5 %
R 2018/05/31 MM T} A2 H (=)
LAEM®)=V+Es+T+P T(%)=Tq-Ti/273+*100
7 b= G2.5 H M A > _
V(%)=I-Q/Q*100 P(%)=Pi-Pq/Pi+ 71 &+*100
JEIILE Ta Qmax 0.2Qmax JI=JI2S P Qmax - 0.2Qmax
[°c} ' 7.30 7.30 {pPa]l 3200 3300
[ o 133311 133311 134312 134312 134312 134312 134312 134312
L & # 071961 072369 053864 053424 053611 053800 053869 053868
g 040 T T 1 70770 T 1 01600 1 [ 100000 T | 101.80L T | 101.70L T [702.00 1 [101.60L 1T
4.0 m/h| 10000L Q V 040 710 160 0.50 130 170 550 760
NEN BN Es -0.55 ~0.55 ~0.55 -0.56 ~0.55 ~0.55 ~0.55 ~0.55
e x = - P T T 730 T 1730 1 730 5730 T 1730 Ti [7.30 T 1 7.0 g5
»a |THNHESXRRIAT 0.00 0.00 000 000 000 1 000 0700 000
. 1505000 Pi 1 280000 bBi | 2750.00 DI | 2600.00 Pi| 2400.00 Pi | 2250.00 P; [2100.00_ Pi | 1900.00 Pi
FHOHSEAEE P —0.14 —0.38 —0.43 058 —0.77 1 —0.92 —T6 76
MNAOE A [ +1.50%) E -0.29 0.17 0.62 -0.23 -0.02 ; 0.23 0.39 -0.21
3 ' 75680 C T T 70050L T | 96080 1 | 10080L 1 | 100.30L 1 | 100.00L I | 100.10L I _ |101.20L 1
0.8 m/nhf 100.00L Q V 0.60 050 060 0.0 030 | 0.00 510 120
INEI BEK Es 0.06 0.06 0.06 0.06 0.06 | 0.06 0.06 0.06
exn [ - 7.30 71 7.30 T 7.30 T [ 7.30 T 7.30 T [ 7.30 Ti [ 7.30 1 17.30 oy
¥ & |FHINHESASZEXT 9.00 000 .00 0.00 0.00 | 0.00 000 000
350050 Pr1 315000 Pi| 317000 Pi| 3770.00  Pi | 3160.00 i ] 3100.00  D; | 3050.00 P | 3000.00 i
SH AR P =010 =574 0.2 = NP —0.14 —0.19 oL —0.09
JPADE 2K { £1.50%] E 0.56 042 0.54 0.74 0.22 -0.13 -(0.08 0.97
m’/h
JIEN BB Es
» N |sunmesasgnT
4+ 0 ERE R P
NADE @R[ %) E

mHINE @ Qmax(+/-1.5%)

HLADNF)

A& (287mm ¥ 210mm}
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MMy J1Z=7| : 531628 HAHE g 73 ' &K 55 %
HYHI 2018/05/31 o8 FE X NEESTRITES)
. | " 9 AE(%)=V+Es+T+P T(%)=Tq-Ti/273*100
F A G2.5 H M A ’ v
| V(%)=1-Q/Qs100  P(%)=Pi-Pq/Pi+ th7]¢+100
IN=IJNEE T | Qmax 0.2Qmax JI=J1e8 PO Qmax 0.2Qmax
el 7.30 7.30 {Pal | 3200 3300
N ow e 134312 134311 134312 134311 134312 134312 134312 134312
I w e 053880 224794 053140 224680 053795 087199 059495 | 059499
T —~0070L T | 10070 1 | 701.00L T | 10050C 1T | 101,50 1 } 101.30L 1 {101.70L T _[J0240C I
40 mi/hi 100.00L Q V 5.7 670 100 0.50 7750 30 170 540
IET B Es -0.55 ~0.55 ~0.55 -0.55 -0.55 ~0.55 -0.55 -0.55
? 7 EPp———————— R T} U] 7.30 Ti[ 7.30 i 7.30 TL [ 7.30 Ti| 7.30 T 1 7.30 T [7.30 T
AN FHOHSEASEN T 0.00 | 0.00 0.00 0.00 0.00 0-00 0-00 6.00
e 00 DT | 280000 Pi| 2750.00  Pi | 2600.00 Pi | 7400.00 PL| 2950.00 Pi | 210000 _Pi |1900.00 _Pi
FUNHANREIA P 014 | 038 | —0.43 —0.58 —0.77 -0.92 ~1.06 -1.26
FFABIE] 2} [ £1.50%) E 0.01 ; -0.23 0.02 -0.63 0.18 -0.17 0.08 0.59
I ' T 0T T T I0070L 1 [ 100200 1 | 100.80C T | 100.800L 1 1 107.00C_ 1 | 101f0L T |101,60C 1
0.8 m/hj 100.00L Q V 10| 576 520 080 530 100 10 120
JE7 BEX Es 0.06 | 0.06 0.06 | 0.06 0.06 0.06 0.06 0.06
2 3 \ Tl 7.30 TT| 7.30 Ti| 7.30 T | 7.30 Ti | 7.50 T | 730 T [ 7.30 T [ 7.30 gEi
»a |TEHOHS=RZIXT 000 1 .00 000 500 000 0.00 000 .00
‘ . —1 550000 Pi| 315000 Fi| 317000 Pi| 3170.00 Pi | 3150.00 _Pi_| 310000 Pi | 305000 _Pi |3000.00 _Pi
SHONHANYLIA P —0.10_} 0,14 ~012 —0.12 =014 019 =024 0.9
JEADHE 2% [ +1.50%] E 1.06 0.62 D.14 0.74 0.22 0.87 0.92 0.97
m/h}
 JIEN B Es
3 N [sEnERensEuT
SN EYSEEHA P [
JIATIE 2X % B

mHJIE - Omax(+/- 1.5%)

MLHDVIF)

A4 [297mm x 210mm]
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HEMYS JIZ=D| : 531628 HAIEH g 73 0 &% 5 %
HEYI 2018/05/31 8 X A2 I(F)
. | 9 AR(B)=V+Es+ T+P  T(%)=Tq-Ti/273+100
7 A G2.5 H A Al N ,
V(%)=I-Q/Q*100 P(%)=Pi-Pq/Pi+ 7] +100
JN=INEE Tq Qmax 0.2Qmax pl %) grq PG Qmax 0.2Qmax
[(°c) 7.30 7.30 (Pal 3200 3300
. o 134312 134312 134311 134312 134312 134312 134312 134312
I 026672 053362 200034 053113 059480 | 025208 026684 059478
3 050 T 1 70050 1T [ 101000 1 | 101.70L_ 1 | 161.00L_ 1 | 701.00_I_[J01.40L I [102.40L 1
4.0 m/hl 10000L Q V 030 550 100 170 7001 1700 ) 5740
& BEA Es ~0.55 -0.55 -0.55 -0.55 -0.55 -0.55 -0.55 ~0.55
=35 S _ 7.30 Ti| 7.30 Ti{ 7.30 Ti | 7.30 Ti [ 7.30 Ti [ 7.30 T1 | 7.30 T 1730 T
W |THONHESERZEIT 000 0.00 000 0.00 100 000 000 .00
TOE0.06 BT 280000 B 275000 Pi | 2600.00  Pi [ 2400.00  Fi | 2950.00  Pi | 2100.00 DI _|1900.00 i
=HUHASMASEITA P 514 —038 ~0.43 ~0.58 077 0.0 106 106
NATIE 2A [ £1.50%] E -0.49 -0.43 0.02 0.57 -0.32 -0.47 -0.21 059
' z T00B0 T T 1 70090 T | 70700 1 | 100800 1 | 100.40L I ] 101.i0L I [101.00L 1 [101.00C 1
0.8 m/hf 100.00L Q V 080 080 150 030 040 770 00 120
@I BEA Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
@ 1 _ 7.30 T 7.30 ol IED T 1780 T 730 T [ 7.30 T 1 7.30 1730 T
W a |THONHBZASIXT 000 0.00 000 0.00 000 000 0.00 0.00
30000 Pi 315000 DI ] 317000  Pi| 817000 Pi | 3150.00 Pi | 3100.00 Pi | 3050.00 DPi |3000.00 Pi
SHOHANIAGEHAP =010 014 =Nk =P ~0.14 ~0.19 —0.04 ~0.29
JEATE QA [ £1.50%] E 0.76 0.82 0.94 0.24 0.32 0.97 0.82 0.97
m°/h
ZiEN BEA Es
% g ~HOEHSS SN T
S OEHYHE SR P
NANE LK [ %) E

mMI|IE : Qmax ([ +/-1.5%1

HLHDIEF]

Ad (287mm x 210mm}
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A0 HAEEIE I

HEmy =71 : 531628 HAsE 8% 73 %0 &£FE55 %
LR 2018/05/31 8H I ALHII(ZE)
, . S AE(%)=V+Es+ T+P  T(%)=Tq-Ti/273*100
7 3 G2.5 y. I i ® oA
: V(%)=1-Q/Q*100 P(%)=Pi~Pq/Pi+ | 7] $*100
NEINEeE T Qmax 0.2Qmax FI=I128 rg Qmax 0. 2Qmax
ey 7.30 7.30 (Pal 3200 3300
S 134312 134312 134312 134311 134312 TRAPY 1 HUBLL 22314
I mou 2 053115 053079 059496 220817 053117 oMMy o3kl | A1E2E
3 00301 1 10060 1 | 10070C T | 10060L 1 | 101.80L 1 -
40 m/h} 10000L Q VvV 6:36 050 0.70 3.0 780
ET 2N Es -0.55 ~0.55 -0.55 -0.55 -0.55
C-35 SN ST—— R ) Til_ 7.30 Ti| 7.30 T 7.30 Ti [ 7.30 T
w a |FHOHSTRSINT 000 5.00 500, 0.00 000
P E— 1306000 FT| 2800.00  Pi| 2750.00 Pi | 260000 Pi | 2400.00 Pi
FEOHARIZEA P —0.14 —0.38 —0.43 0,58 077
JFATIE 2K [ £1.50%] E -0.39 -0.43 -0.28 -0.63 0.48
T 1o ¢ 100,40 L1 | 101.00 L 1 [ 10070 L I [ 10040 1 | 10050 L I
0.8 m/n} 100.00L Q V 540 100 070 040 050
JEN BEX Es 0.06 0.06 0.06 0.086 0.06
=35 'S — = 7.30 Ti] 7.30 TL[ 7.30 T | 7.30 T [ 7.30 T
W u |FHIHESZAZBAT o0 0.00 000 0.00 000
= — 3500.00_Pi| _8150.00 Pi| 3170.00 Di | 3170.00 Pi | 8150.00  P%
SHNHBRAEIN P 510 014 =N =N =014
JEADIE 2K [ £1.50%]) E 0.36 0.92 0.64 0.34 042
m’/h
&N B Es
2R nnHRENE SR T
I :
ZHNEHYSAEE A P
JIADE 2K ( % E

mHIE :

Omax( +/- 15%1

MHDIEFE]
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A0 HE A E X
HeWy JEI: 5IUAEL AR 25 73 ¢ aw 65 %
A 2018/ o%/ )i M AT M HII(ZE)
= 2 Gy H A Al 2 AFE(%)=V+ Es+ T+P T(%?=Tq~'ll‘i/273*100
V(%)=1-Q/Q*100 P(%)=Pi-Pq/Pi+ ] 7] 2+ 100
JNENEE T Qmax 0.2Qmax JIEJiets pa Qmax O.2Qmax
(S H 7.30 7.30. [Pal 3200 3300
Jdew s O 1% [y [Pl TRz (B (sl [Py
ot Ee | ox78 | o O%70 | o7 | oDasal  olSe| oot
wL.om/h{ 100.00L Q v -
JIFEI BEA Bs
A anNHESAEEN T
y
2HNEHYHEAEH A P
NHAUE A [ +£1.50%]) B
0.@ m'/h| 10000L Q v
N\ BER Es
fﬂg ~OHREAMSEA T -
SRIUE Y= R P . )
JbAOE QA [ +1.50%) E
m’/h
NEIN BRI Es
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W a4 | THUHSERREXT
SO A= EHAL P
NANE LA %] E |
WEJE © Omax [ +/- 15%) M2 AHIINEF) A4 (297mm x 210mm} -
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A >H X4 I = l
HeMs JEI: 63128 HAIHE 225 73 % &x65 %
d8&ll 2018/ 57 » | M H I REVPITES
= 24 - A A A QAR(%)=VHEs+ T+P  T(%)=Tq-Ti/273+100
V(%)=I-Q/Q+*100  P(%)=Pi~Pqg/Pi+ t]7] ¢+ 100
NENRT Ta Qmax 0.2Qmax JiZ=Jlel s Pg Qmax 0.2Qmax
(°C} 7.30 7.30 [Pal 3200 3300
| DD | o
2 B W o
! Tk | oGyrEy
tL.om/nf 10000L Q Vi— -
JIE) BAEA Es
=3 2 t
o oa | THOESEREIRT -
+HUONHYHERE X P
NAOLE A [ +1.50%) E
0% m/| 10000L Q \Y
NE e Es
ﬁg SHNHZEAE AT
22 OE YRR B AL P |- oo oo b e b
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Qmin 4 & 7| § X

| dAgemn | 0.025 7 A G2.5 R
HAY 2018-05.31 NES TR | REHES + 3% ch7retea) | 101340
2 & 73 °C = 55% ALE7|Z0|E 537305
Bench no.

g s

AR b

+=ZH0|E S0tE [ 10.10 10.00 10.00 10.10 10.20 10.00 10.10 10.20
7|&0|5-F o2 Q 10.00 10.00 10,00 10.00 1000 10.00 10.00 10.00
MEZF y=g-g)/oxto0 1.00 0.00 0.00 1.00 2.00 0.00 1.00 2.00
71 &0 B EEK|Es +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33
;1 71#0/H2ETq 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
2 FHOH2E T 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
o | SEEYA(%) T=(Tq—T/273X 100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7|1 20| H & (Pa)Pq 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
20| E L (Paypi 1750.00 1788.89 1827.78 1866.67 1905.56 1944 44 1983.33 2022.22
LHBYA P=(Pi—Pq)/(Pi+PA)X100 -0.73 -0.69 -0.65 -0.61 -0.58 -0.54 -0.5 -0.46
71A E=V+Es+P+T 0.60 -0.36 -0.32 072 175 -0.21 0.83 1.87
ot B (£3%) s o) 0 0 o) o 0 0
Bench no. g 10 ik 12 13 14 15 16
=Z0| 5 ESutE | 10.00 10.10 10.00 10.10 9.90 10,10 10.10 10.00
7| E0EHERE Q 10.00 10.00 10.00 10.00 10.00 10,00 10.00 10.00
neE v=UI-0)/exi00 0.00 1.00 0.00 1.00 -1.00 1.00 1.00 0.00
7| =0lE 2 EHX|Es +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33
;L 7| E0E2ETq 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
# FHAE2= Ti 7.30 7.30 7.30 7.30 7.30 7.30 7.20 7.30
A | EEEZH(%) T=(Tq-T0)/273X 100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
ZIE 0 EH Y3 (Pa)Pq 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
=7 0/ E{ 22 (Pa)pi 2061.11 2100.00 2140.00 2180.00 222000 2260.00 2300.00 2340.00
UHEHEK P=(Pi—Pq)/(Pi+PA) 100 -0.42 -0.39 -0.35 -0.31 -0.27 -0.23 -0.19 -0.15
71%t E=V+Es+P+T -0.09 0.94 -0.02 1.02 -0.94 1.10 1.14 0.18
ot B o(+3%) o o) o) 0 o] o) 0 o)




| AR m3n) ] 0025 | ] 7 3 | G25 R ]

Mg 2018-05.31 A2 716 By ] = 3% Ci2RHea) | 101340
2 = 73 C = 55% A7 20 537305
Bench no. 17 1
TR - ‘ — o
+=Hd0/ESre | 10.00 10.10 9.90 10.00 10.10 10.20 10.00 10.00
J|=0/e|Sntg Q 10.00 10.00 10.00 10,00 1000 10.00 10.00 10.00
IMEZ y-g)jox100 0.00 1.00 -1.00 0.00 1.00 2.00 0.00 0.00
7| E 0 2 X|Es +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0,33 +0.33
; : 7|EOH2ETg 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
2 FHOE2Z T 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
a | 2EEFX(%)  T=(Tq-Ti)/273X 100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7| =01E & &(payPq 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
+Z0[E[ L& Pa)pi 2380.00 2420.00 2460.00 2500.00 1750.00 1788.89 1827.78 1866.67
HHEHX  p=(Pi—Pq)/(Pi+PA) 100 -0.12 -0.08 -0.04 0.00 -073 -0.69 -0.65 -0.61
PN E=V+Es+P+T 0.21 1.25 -0.71 033 0.60 1.64 -0.32 -0.28
Et d (£3%) 0 o) 0 0 o) 0 o) 0
Bench no. 5 6 7 8 9 10 11 12
7| % Hd i A :A‘ 3 3: 105
+=Z 0| &g | 9.90 10.10 10.10 . 10.00 10.00 9.90
7| =0/ Sntg Q 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
SRR v=g-g)/ox100 -1.00 1.00 1.00 -1.00 0.00 1.00 0.00 -1.00
7| &0l EHAEs +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33
;1 ESEESY 7.30 7.30 7.30 7.30 730 7.30 7.30 7.30
2 T=H0H 2% Ti 7.30 7.20 7.30 7.30 7.30 7.30 7.30 7.30
s | EEBBRA%) T=(Tq-Ti)/273X 100 0.00 000 0.00 0.00 0.00 0.00 0.00 0.00
7| &0 e E(Pa)Pq 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
S 0|E Y (paypi 1905.56 1944 44 1983.33 2022,22 2061.11 2100.00 2140.00 2180.00
Y EBA P=(Pi—Pq)/(Pi-+PA)X100 -0.58 -0.54 -0.5 -0.46 -0.42 -0.39 -0.35 -0.31
21% E=V4EsP+T -1.25 0.79 0.83 -1.13 -0.09 0.94 -0.02 -0.98
o F (+3%) 0 0 0 0 0 o} 0 0




[ ZAR Z(man)

I 0.025

™ 4 G25 R
B A Y 2018-05.31 #7\ey = + 3% Ch7I2Hpa) | 101340
2 & 73 Ab&7|Z=0|E 537305
Bench no. 14 15 16 17 18 19 20
TE WS
Encial|=E=nl= I 10.00 10.10 9.90 10.10 9.90 10.10 10.00
7| =0(E S e G 10.00 10.00 10.00 10.00 10.00 10.00 10.00
DHRE v=(-9)/Qx100 0.00 1.00 -1.00 1.00 -1.00 1.00 0.00
7| =0 2™K|Es +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33
i: EOEH2ETg 7.30 7.30 7.30 7.30 7.30 7.30 7.30
2 *=HOHRZ T 7.30 7.30 7.30 7.30 7.30 730 7.30
A | SEEEX(%) T=(Tq-T1)/273X 100 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7| &0/ E Y (Pa)rg 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
40| E{ 22 (pa)Pj 2260.00 2300.00 2340.00 2380.00 2420.00 2460.00 2500.00
YHEYAX  p=(pi—Pq)/(Pi+PA) 100 -0.23 -0.19 -0.15 012 -0.08 -0.04 0.00
7| &} E=V+Es+P+T 0.10 1.14 -0.82 1.21 -0.75 1,29 0.33
o H (+3%) 0 0 o) 0 0 o) 0
Bench no. 2 3 4 5 6 7 8
Teds 107
SZ0EH 512t | 9.90 10.00 10.20 10.10 10.00 9.90 10.10
7| E0[E| & ohE Q 10.00 10.00 10.00 10.00 10.00 10.00 10.00
BEZ yey-gyex00 -1.00 0.00 2.00 1.00 0.00 -1.00 1.00
ZIEOEH 2 EXEs +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33
; : 7|E0EHR2ETg 7.30 7.30 7.30 7.30 7.30 7.30 7.30
2 HOE2 Ti 7.30 7.30 7.30 7.30 7.30 7.30 7.30
A | EEEER (%) T=(Tq-Ti)/273X 100 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7| = 0B Y (Papg 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
SHO[E ¢ (pa)pi 1788.89 1827.78 1866.67 1905.56 1944.44 1983.33 2022.22
UHEHK| P=(Pi—Pq)/(Pi+PAIX100 -0.69 -0.65 -0.61 -0.58 -0.54 -0.5 -0.46
Z{%} E=V+Es+P+T -1.36 -0.32 1.72 0.75 -0.21 -1.17 0.87
o H (+£3%) 0 0 0 0 0 0 0
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At
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JIEDHESIH Q

10.00

IEE v=y-gyox0

-1.00

7B HEFH R Es

+0.33

J[E0H2ETq

7.30

SHDEEE T

7.30

SEEFYN (%) T=(Tg-TD/273X 100

0.00

7| 0| H & & (Pa)Pq

2500.00

2500.00

0[5 &= (Pa)pi

2061.11

2100.00

L EHKX  P=(Pi-Pq)/(Pi+PA) 100

-0.42

-0.39

21 &t E=V+Es+P+T

0.91

-1.06
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At
A

o

= H0|E{S0E

7| =018 St Q

IEE yog-gy/ox100

7| E0EH 2™ Es

7| E0HRETy

+HOEEE T

L EER|(%) T=(Tq—Ti)/273X 100

71 Z 0[5 &3 (Pa)Pq
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